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M.A. (Economics) (Semester - 1) (New) (CBCS) Examination: Oct/Nov-2022
Micro Economic Analysis

Day & Date: Monday, 13-02-2023 Max. Marks: 80

Time: 03:00 PM To 06:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Choose the correct alternative from the following options. 16
1)  In cardinal utility analysis the utility of money is assumed as
a) increasing b) decreasing
c) stable d) variable
2)  According to economics is a positive science.
a) Dr. Marshall b) Adam Smith
c) Robinson d)  None of these
3)  Single price is prevailing in market.
a) perfect competition b)  monopoly
c) monopolistic competition d) oligopoly
4) is a subject matter of micro economics.
a) National Income b) Fiscal Policy
c) Monetary Policy d) Consumers behavior
5)  Excess capacity is the future of .
a) monopoly b)  monopolistic competition
c) duopoly d) monopsony

6) Economies of scale have been classified into internal economies and
external economies by

a) Keynes . b) Marshall
c) Samuelson d) Hicks
7) is the basis of indifference curve analysis.
a) Scale of preference b)  Scale of consumption
c) Scale of production d) Scale of exchange
8) In analysis of monopolistic competition ‘Group’ concept was propounded
by .
a) Srafa b)  Mrs. Jhon Robinson
c) Prof. Chamberlin d)  None of the above

9) Revealed preference theory assumes
a) Consistency of consumer behavior
b) Transitivity
c) Positive income elasticity of demand

d) All

10) Total Cost = Total fixed cost + :
a) Average variable cost b)  Total variable cost
c) Marginal cost d)  None of the above
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11) Under the monopoly market cross elasticity has

a) One b) Two
c) Three d) Zero
12) An indifference curve are always
a) Concave to the origin b) Convex to the origin
c) Parallel d) None of these
13) Price discrimination is a feature of
a) Perfect Competition b)  Monopolistic Competition
c) Monopoly d) Oligopoly
14) When total utility is maximum, a marginal utility is
a) Zero b) Maximum
c) Minimum d) Negative

15) Iso-quants are deals with
a) Consumption b)  Production
c) Distribution d) None of these

16) Kinked demand curve is put forth by .
a) Hicks b) Samuelson
c) Pawel Sweezy d) Marshall

Write short Answers. (Any Four)

What is inductive method?

What is marginal rate of substitution?
What is product differentiation?

Give meaning of bilateral monopoly?
What is meant by scarcity?

f) State the features of monopoly market.

O OO T
N N N N N

Write Short Notes (Any Two)
a) Iso quants

b) Selling cost

c) Income effect

d) Duopoly market

Broad answers question (Any One)
a) Explain traditional and modern theories of cost.
b) Discuss in detail the basic economic problems before society.

Broad answers question.

What is Indifference curve? Explain the characteristics of indifference curve.

16

16

16

16
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Set| P

M.A. (Economics) (Semester - 1) (New) (CBCS) Examination: Oct/Nov-2022
Economics of Growth and Development

Day & Date: Tuesday, 14-02-2023
Time: 03:00 PM To 06:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1
1)

2)

3)

4)

10)

11)

Choose the Correct Alternative

Economic development denotes a

Max. Marks: 80

16

change in the economy.

Qualitative
None of the above

change in the economy.

Qualitative
None of the above

is an important factor in the process of economic development.

a) Quantitative b)
c) Structural d)
Economic growth denotes a

a) Quantitative b)
c) Structural d)
a) Land b)
c) Capital formation d)

Harrod-Domar assigned a key role to

development.

Labour
None of the above

in the process of economic

Investment
None of the above

growth model.

Long run
None of the above

growth model.
Socilistic
None of the above

Kaldor assumes that technical progress depends upon the rate of

Investment
None of the above

growth model.
Three sector
None of the above

Kaldor
Passinetti

Industry
None of the above

in underdeveloped countries.
Higher

a) Saving b)
c) Rate of Interest d)
Solow’s growth model is
a) Short run b)
c) Classical d)
Solow’s growth model is also known as
a) Classical b)
c) Neo-Classical d)
a) Savings b)
c) Capital accumulation d)
Uzawa growth model is known as
a) Two sector b)
c) Multi sector d)
The concept of ‘Learning by doing’ is presented by
a) Solow b)
c) Arrow d)

is the prime occupation of underdeveloped countries.
a) Agriculture b)
c) Trade d)
The rate of growth of populationis
a) Lower b)
c) Stable d)

None of the above
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15)
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The Pasinetti growth model is an extension of growth model.
a) Harrod-Domar b)  Mahalnobis

c) Kaldor d)  None of the above
Vicious circle of poverty exits in countries.

a) Developed b)  Progressed

c) Under developed d)  None of the above
Theory of ‘Economic Growth with Unlimited Supply of Labour’ is

propounded by .
a) Karl Marx b)  John Keynes
c) Arthur Lewis d)  None of the above

According to Arthur Lewis most of the under developed countries are
having sector economy.

a) Two b) Three

c) Multi d)  None of the above
‘Big push’ theory is propounded by .

a) Karl Marx b)  Arthur Lewis

c) Rodan d)  John Keynes

Write Short answers. (Any Four)

Explain the Balanced and Unbalanced development.

Explain any four differences between economic development and economic
growth.

Explain any four indicators of Human development.

What is endogenous growth?

What is meant by non-embodied technical progress?

What is the role of education and research in economic development?

Write Short Notes. (Any Two)

a)
b)
c)
d)

Population and Environment

Intellectual capital

Explain the ‘Big Push’ theory.

Explain the various factors affecting on economic growth.

Broad answers question. (Any One)
Explain the characteristics of under developed country?

OR

Explain the Schumpeter’s theory of economic development.

Broad answers question.
Explain Mrs. Joan Robinson’s model of economic development.
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Day & Date: Wednesday, 15-02-2023

Set | P

M.A. (Economics) (Semester - 1) (New) (CBCS) Examination:

Oct/Nov-2022
Economics of Environment

Time: 03:00 PM To 06:00 PM

Instructions: 1) All questions are compulsory.

Q.1

2) Figures to the right indicate full marks.

Choose the Correct Alternative.

1)

2)

3)

6)

7)

9)

10)

March of every year is celebrated as
a) World Population Day b) World Forest Day
c) Earth Day d) Anti-Tobacco Day

Environmental problem can be solved by
a) Education

b) Value based environmental education
c) Physical education

d) Health education

Environment economics mainly build its theoretical foundation on
a) Monetary economics b) Development economics
c) Agriculture economics d) Welfare economics

Sustainable development doesn’t compromise the needs of
generation.

a) Past b) Present

c) Future d) None of these

Environmental degradation is caused by .

a) Population b)  Urbanization

c) Industrialization d) Allthe above

Who founded ‘Chipko Movement’ in India?

a) Mahavira b) Vinoba Bhave

c) Jambeshwar d) Tulsi

The word environment is derived from language.

a) French b) Latin

c) Greek d) Roman

Deforestation means

a) Plantation b)  Cutting of trees

c) Social forestry d) Economic Development

Hot spot concept is introduced by .

a) John Mayer b) King Mayer

c) G. Mayer d) Norman Mayer
related with Narmada Save Movement.

a) Medha Patkar b Popatrao Pawar

c) Marshall d) Anna Hazare

Max. Marks: 80
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11) The development which is complementary to the environment is

development.

a) Eco friendly b)  Structural
c) Fundamental d) None of the above
12) ‘Prevention and Control of Air Pollution’ act is passed in in India.
a) 1971 b) 1981
c) 1991 d) 2001
13) pollutes the environment more.
a) Plants b) Animals
c) Birds d) Human being
14) The United Nations Conference on human environment is held in
a) 1972 b) 1982
c) 1986 d) 1996
15) The area which is gifted with plenty of bio diversity is called as
a) Gold spot b) Cold spot
c) Hot spot d) Green spot
16) 03%is known as :
a) Oxygen b) Ozone
c) Ocean d) None of the above

Write short answers. (Any Four out of six)

a) Whatis the significance of environment economics?
b) Whatis eco system?

¢) Whatis sustainable development?

d) Whatis the role of people in environment protection?
e) Whatis cost benefit analysis?

f)  What are social benefits of environment?

Write Short Notes. (Any Two out of four)

a) Explain the scope and Significance of Environment Economics.
b) Role of NGO in environment protection.

c¢) Environment audit.

d) Whatis bio-diversity? Explain the importance of bio-diversity.

Broad answers question. (Any One)

a) Whatis eco system? Explain the components of eco system.
OR

b) Sustainable development is the need of environment”. Discuss.

Broad answers question.
Explain the relationship between economics development and environment
problems.

16
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M.A. (Economics) (Semester - 1) (New) (CBCS) Examination: Oct/Nov-2022
Principles and Practice of Cooperation

Day & Date: Thursday, 16-02-2023 Max. Marks: 80

Time: 03:00 PM To 06:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Choose the correct alternative from the following options. 16
1) is known as a father of modern co-operative movement.
a) Robert Owen b) Raiffeisen
c) Schultze d)  William King
2) In 1964 the International Co-operative Allianes appointed a committee under
the chairmanship of for the restructuring of Co-operative principles.
a) D.G. Karve b) S.T. Shankar
c) Dr.S.D.Rao d) P.B. Patil
3) District Central Co-operative Banks are the organization of
a) PACs b) SCBs
c) LDBs d) NABARD
4)  Co-operative societies are type of organization.
a) General b) Special
c) Democratic d) None of these
5) are also known as ‘Agricultural and Rural Development Banks’.

a) Regional Rural Banks

b) Urban Co-operative Banks

c) Land Development Banks

d) Primary Agricultural Credit Co-operatives

6)  The first Co-operative Act was passed in India in the year.
a) 1902 b) 1903
c) 1904 d) 1906
7) is one of the major problems of labour co-operative societies.

a) Financial weakness

b) Lack of sufficient work

c) Competition from private contractors
d) All of the above

8)  The apex organization of all consumer co-operatives in India is

a) NAFED b) NABARD
c) NCCF d) SBI
9)  Co-operative marketing societies providing loans for farmers on the security
of
a) land b) cattles
c) agriculture produce d) all of these
10) institution provides capital to Housing Co-operative Societies.
a) HUDCO b) LIC
c) HDFC d) all of these
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11) NAFED established in

a) 1950 ' b) 1955
c) 1958 d) 1960
12) Afirst country to start co-operative credit movement in the world is
a) India b) Italy
c) France d) Germany
13) The marketing Co-operative are suffering of problems from
a) Insufficient working capital b) Lack of trained personnel
c) Domination by traders d) All of the above
14) The first Co-operative land mortgage bank in India was started in
a) 1920 b) 1940
c) 1960 d) 1980
15) National Co-operative Housing Federation was established in
a) 1960 b) 1969
c) 1970 d) 1975
16) The agricultural Co-operative processing in India started in
a) 1901 b) 1904
c) 1917 d) 1925

Write short Answers. (Any Four)

a) Whatis micro finance?

b) State the problems of marketing co-operatives in India.
¢) Whatis long term loan?

d) Define Urban Co-operative Bank.

e) Explain the types of Housing Co-operatives in India.

f) State the meaning of labour co-operative.

Write Short Notes (Any Two)

a) Voluntary and open membership

b) National Co-operative Consumer Federation.
¢) Origin of Co-operative movement in the world.
d) Problems of labour co-operatives.

Broad answers question (Any One)
a) Discuss the progress and problems of processing co-operatives in India.
b) State the structure and progress of co-operative finance agencies in India.

Broad answers question.
Discuss about the Manchester’s principles of co-operation.

16

16

16

16

Page 5 of 5



SLR-CV-5
Seat
No. Set| P

M.A. (Economics) (Semester - 1) (New) (CBCS) Examination: Oct/Nov-2022
Industrial Economics

Day & Date: Thursday, 16-02-2023 Max. Marks: 80
Time: 03:00 PM To 06:00 PM

REE < 1) Wy AR e

U1 el faelel A9 TG a9 MaeiedT SN 9. 16
1)  goarien A e & Fheddl ——— JrAThgd AIsudrd
3T,
3) dfe §) IS dax
®) SI. ATele S) UlSeygud. gl
2) — g ReRade anfdfss a1 e glsal.
) Y SN q) ol ST
%) AIS SN ) TeIH SN
3) TSN HURHR ————— SEIRIEESHENY IS
3) BH §) Ho
®) FEBNI S) W ¥|d
4) e JenfareRomar RigHid ——— I AiSe ITR.
) e q) Sfes Rarst
®) St S) WD BIerel AR
5) ———— BT SURTARIA] ITGdhd] SRAVIRT Heh 3ATe.
) BHIA BHITR §) IRIA BIHIR
P) URUIRG dAST ) TR I ;T B
6) ————— ST AR oY TN Bl
) dIUS ¥ gH
®) CICl s) Rarg
7 — g AIeaT ST ISTERT 3MTE.
31) AR SR §) BIaEnT
®) Rye HREM €) Al Ul PrErEl el
8) U UYHdte AT ——— IR AfdH R .
31 e q) 3fEnfraiaRor
®) RN TR B0 ©)  SeArHREr

Page 1 of 5



.2

SLR-CV-5

9) Siwl IAEH YW 3D ¥ Masdrd SaHe gl Icre- W

HHI Blgel, ITell —————— FEUTT.
3) T WS q) PR fSHToT
®) dIOIRUS T) SfEnRraaRor
10) SiERIE IATGHAT AEITITATS] ————— gcdh HEwdld 3fed,
3) I A q) fad
®) HAS BHTR S) W
11)  HIS TN IR ———— 3.
31) SH e q) Yiedd Hud
®) S YA SICNISECIRS I
12) RATA] YEaINe IS S¥mal ——— YR [AHMN duar
LGNS
) AdSIS &5
§) ol e

®) ATESTD, Grorl, FYad AT AZDHRI &
T) NI ARAIRAEGT AEART dTeau]

13)  ¥RAKITS G SiEfiie gRUMY It M.
31) WO &AM ThdhiAl Ui Qof
q) &GS Al JHCHEd I qredu]
®) Ay srfaaRe SRR Tl <o
S) WOF AT BHRRIAT URIge BRI

14) I TG, AFUY YRITRTG a1 9edh ool —— B,
3 |IA q) ST
@) SeNTER] S)  aAUBT AR
15) SENTERIT ATAD! MY f=vr ypra fSaroft 3o /ol —— g,
) WEHN HeeH 9 TP gl FET
®) FIFT HIAI S) W SERTRET
16) ———— T ISP RSB F¥Ed HIUIR Agdrd gcd Aed
3) KT AR SUALAT &) HFG GAEAE] SUSTErdl
F) ARG GRO0 ) W |d
Gelleria! el Neara S el (@ 0d ar) 16

) SiEfe e MEd SRugRIS! BIvdel 9 ged di.
§) IS U] Hhod-l AR BN,

D) oY SUN WIS BY?

S) SH SUNTERM! Hheudl URATYT 6.

s) SirEnRraieomar el |E.

3) SEfe IUEHAT SRGUIR BIVITel &9 edh Al

Page 2 of 5



3

H4

el ®! qeiE SR forel. (@vrad <)

) oY SR AT

§) dmic AR e wREmEr gara
®)  IRAY IUNGR TGRS HUIET THTd
S) oY famrara ST ST

Greiidd®! qeE SR el (@IUad 1)
TR DRI T B,

ehdT

JMFhe Jav=T MR eHren Rigeiar aaf &,

SLR-CV-5
16

16

U5 e IATEHAr /IS HrI? SiENfId SATEhdl SYdUIR Tedh W H. 16

Page 3 of 5



SLR-CV-5
Seat
No. Set P

M.A. (Economics) (Semester - 1) (New) (CBCS) Examination: Oct/Nov-2022
Industrial Economics

Day & Date: Thursday, 16-02-2023 Max. Marks: 70

Time: 03:00 PM To 06:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Choose the correct alternatives from the options. 16

1) Initially, the concept of industrial economics was introduced by

a) Lord Keynes b)  Alfred Weber

c) Dr. Marshall d) P.W.S. Andrews
2)  Economic Growth with stability will be possible from

a) Small scale industries b)  Agro industries

c) Large scale industries d) Medium industries
3)  Multinational corporation have a example of industry.

a) Small b) Large

c) Co-operative d) All of the above
4)  The theory of industrial localization is propounded by

a) Lord Keynes b) David Ricardo

c) J.B. Say d) None of the above
5) is the factor determining Firm productivity.

a) Skilled labour b)  Unskilled labour

c) Traditional technology d) Answer a)and c)
6) industry is included in small-scale industry.

a) Textile b) Tiny

c) Tata d) Reliance
7) is the example of large-scale industries.

a) Sugar factory b) Handloom

c) Cement factory d) None of the above
8)  The Second Five Year Plan laid more stress on .

a) Agriculture b) Industrialization

c) Removing poverty d) Self-reliance

9)  When manufacturers choose a location that will reduce their production
costs, it is called

a) Tourist place b) Office place

c) Market place d) Industrial
10) factors are important to raise industrial productivity

a) New technology b) Finance

c) Skilled labour d) All of the above
11) Large scale industries are mainly

a) Labour intensive b) Capital intensive

c) Land intensive d) None of the above
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12) India's five year plan was to develop the country type.
a) The public sector
b) The private sector
c) The public, private, joint and Cooperative sectors
b) Increasing collaboration with non-resident Indians

13) Present Industrial policy in India aims at:
a) Promoting the private sector units
b) Increasing the production of public sector units
c) Accelerating the performance of mixed economy
d) Discourage the performance of the private sector

14) According to Hanson, an independently administrated business unit

means :
a) Plant b) Firm
c) Industry d) None of the above

15) The ownership and control of the firm in the same hand means
a) Cooperative organization b) Individual proprietorship
c) Joint Stock company d) Corporate firm

16) is the important factors of determining industrial localization.

a) Availability of National Resources
b) Availability of Human

c) Government Policies

d) All of the above

Answer the following questions. (Any Four)

a) State the any two factors of determining of Industrial location.
b) Define the concept of multinational corporations.

c) Whatis meant by small scale Industry?

d) Define the concept of optimum firm.

e) State the meaning of Industrialization.

f)  State the any two factors determining of Industrial productivit

Write short notes (Any Two)

a) Problems of small scale Industries.

b) Sergeant Florence theory of Industrial Location.

c) Impact of multinational companies on Indian Industries.
d) Role of Industries in Economic development.

Answer the following questions. (Any One)
Explain the classification of Industries.
OR
Discuss the Alfred Weber’s theory of Industrial location.

What is Industrial Productivity? Explain the factors determining of Industrial
productivity.

16

16

16

16
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M.A. (Economics) (Semester - 1) (New) (CBCS) Examination: Oct/Nov-2022

Financial Institutions and Markets

Day & Date: Friday, 17-02-2023 Max. Marks: 70
Time: 03:00 PM To 06:00 PM

Instructions: 1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q.1 Choose the correct alternatives from the options. 16

1)

2)

3)

4)

10)

SEBI stands for

a) Securities Exchange Board of India

b) Stock Exchange Board of India

c) Securities and Exchange Board of India
d) Stock Earn Board of India

is the type of financial intermediaries.

a) Insurance Company b)  Mutual fund companies
c) a)&b) d) None of these
is the objective of monetary policy.
a) Economic growth b) Price stability
c) a)&b) d) None of these
bank is the highest authority in currency and banking system.
a) Commercial b) Central
c) State Cooperative d) None of these
policy controls over credit creation.
a) Fiscal b) Monetary
c) Budgetary d) All of these

Classical theory of interest is depends on

a) Sacrifice of consumer

b) Preference of time series

c) Waiting

d) Demand for capital and supply of capital

The'shape of L.M. curve is

a) Upward sloping b) Downward sloping

c) Vertical (parallel to ‘y’ axis) d) Horizontal (parallel to ‘x’ axis)
is the main function of Commercial Bank.

a) Credit control b) Credit creation

c) Monetary targeting d) None of the above

In the Modern Theory of Interest is use of .

a) Use of IS curve b) Use of LM curve

c) Use of IS-LM model d) Use of demand for money

In the financial system interest rates are freely determined by the

market.

a) Undeveloped b) Developed

c) Controlled d) Public

Page 4 of 5



Q.2

Q.3

Q.4

Q.5

11)

SLR CV-6

Monetary policy is related to

a) Control on banking b)  Control of financial institutions
c) Control of supply of money d) None of these
12) is the part of structure of financial system.
a) Stock Market b) Banks
c) Mutual Funds d) All of these
13) What are the measures of credit control of the central bank?
a) Quantitative measures b) Qualitative measures
c) a)&b) d) None of these
14) E-Bankingis a banking.
a) ATM b) Internet
c) Commercial d) None of these
15) comes under unorganized sector.
a) Nationalized Banks b) Commercial Banks
c) Co-operative Banks d) Money Lenders
16) Monetary Policy is implemented by Bank.
a) ICICI b) AXIS
c) Central d) State
Answer the following questions. (Any Four) 16
a) State the motives of Demand for money.

b) Whatis Prime Lending Rate?

c) Aims of monetary policy in developing countries.

d) Demerits of Internet Banking.

e) Whatis Core Banking?

f)  What s Interest Rate?

Answer the following questions. (Any Two) 16
a) Obijectives of monetary policy in developing countries.

b) Financial system and Economic Development.

c) Classical theory of Rate of Interest.

d) Structure of Financial System.

Answer the following questions. (Any One) 16

Explain the IS-LM theory of interest rate.

OR

Explain the Keynesian Theory of Rate of Interest.

What is Central Bank? State the functions of Central Bank. 16
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M.A. (Economics) (Sem - 1) (New) (CBCS) Examination: Oct/Nov - 2022

Indian Economic Policy

Day & Date: Friday, 17-02-2023 Max. Marks: 80
Time: 03:00 PM To 06:00 PM

Instructions: 1) All questions are compulsory.

Q1

2) Figures to the right indicate full marks.

Choose the correct alternative from the following options. 16
1)  The non-traditional energy sources include
a) solar energy b) bio-gas
c) wind energy d) all of the above
2) Increase in real national income is called
a) Economic growth b)  Economic development
c) Regional development d)  Sectorial development
3) are the measures for development.
a) Increasing capital formation b)  Improving human capital
c) Both of them d) Cost and benefit
4) are the problems of urbanisation.
a) Fast growth in urban population
b) Large increase in big towns
c) Regional disparities in urbanization
d) All of these
5)  The National Rural Health Mission (NRHM) started in
a) 2001 b) 2012
c) 2005 d) 2007
6) Presently India is at number in the world about population.
a) First b) Second
c) Third d) Fourth
7)  The concept of Indian poverty has been propounded by
a) Mahatma Gandhi b) Lokmanya Tilak
c) Dadabhai Naoroji d)  None of the above
8) is the important component of social infrastructure.
a) Education b) Health
c) Standard of living d) All the above
9) Indian census takes place after every year.
a) five b) ten
c) twenty d) fifty
10) The slogan of 11 five year plan was .
a) Agriculture development b)  Eradication of poverty
c) Rural development d) Inclusive growth
11) The economic development of a country is influenced by
a) capital b) labour
c) technology d) all of these
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12) is the prominent cause of rural-urban migration.
a) Unemployment b) Climate
c) Culture d) None of the above
13) According to 2011 census the density of population is highest in
city.
a) Pune b)  Delhi
c) Mumbai d) Solapur
14) The second five year plan was focused on sector
a) Agriculture b) Industry
c) Service d) All of these
15) New Economic Policy is accepted in :
a) 1990 b) 1991
c) 1992 d) 1993
16) The first five year plan (1950-56) was based on model.
a) P. C. Mahalanobis b) Harrod- Deomar
c) Prof. Rostow d) J. A. Shumpeter
Write short Answers. (Any Four) 16
a) Causes of inequality in India.
b) State the meaning of sustainable development.
c) What is per capita income?
d) Define migration.
e) Whatis death rate?
f) Define the economic planning.
Write Short Notes (Any Two) 16

a) Urbanization

b) Sex ratio in India

c) Environment and development
d) Explain Regional Imbalance.

Broad answers question (Any One) 16
a) Write on the achievements and failures of NITI Aayog.
b) Whatis economic development? Explain the indicators of economic

development.

Broad answers question. 16
Explain the broad demographic features in India.
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M.A. (Economics) (Semester - II) (New) (CBCS) Examination:
Oct/Nov-2022
Micro Economics Analysis

Day & Date: Monday, 20-02-2023 Max. Marks: 80
Time: 11:00 AM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Draw neat diagrams wherever necessary.

Q.1 Fill in the blanks by choosing correct alternatives given below. 16
1) is a wage for the work of worker.
a) Rent b) Salary
c) Profit d) Interest
2)  The idea of quasi rent was first presented by .
a) Recordo b)  Marshall
c) Mrs. Robison d) Pingr

3)  Williamson’s model is concern with
a) Maximisation utility of management
b) Maximisation utility of consumer
c) Maximisation of Sell
d) Maximistion of profit

4)  Determination of land rent arises because of its stated in modern
theory.
a) Demand b)  Supply
c) Cost d) Scarcity
5)  J.S. Bain developed his theory of limit pricing in an article publish in
a) 1947 b) 1948
c) 1949 d) 1950
6)  Stegler introduced the concept of
a) Welfare Economics b) Information Economics
c) Public Economics d) None of these
7) are used in modern theory of interest.
a) IS curve b) LM curve
c) IS-LM curve d) None of these
8)  Marginal theory of wages has been put forward by
a) Bain b) J.B. Clerk
c) Marries d) Smith
9) TR-TC=
a) cost b)  marginal cost
c) profit d) variable cost
10) Profit is associated with
a) Innovation b) Risk
c) Uncertainty d)  All the above
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Prof. N. Kaldor in his theory of distribution assumes

a) Perfect competition b)  Full production
c) Full employment d) Zeroincome
is said to be the founder of new welfare economics.
a) Hicks b) Pareto
c) Pigou d) Dr. Amartya Sen
Shumpter gives importance to the factor in his profit theory.
a) Risk b)  Uncertainty
c) Innovation d) Allthe above
Any change which improve the welfare of at least one individual without

hampering the welfare of others is known as
a) Optimality criteria of welfare b) compensation criteria
c) Social welfare function d) None of the above

Insurance means .

a) Risk pooling b) Risk spreading
c) Minimising risk and uncertainty d) None of these
Ricardo’s theory of distributions is based on the principle of

a) decreasing returns b) differential rent
c) fixe rent d) monopoly

Write short Answers. (Any Four) 16

O OO OO
SN N = N N

—h
N

What is rent?

What is interest?

What is welfare?

What is search economics?
What is limit pricing?

What is economics of Insurance?

Write Short Notes (Any Two) 16

a)

b)
c)
d)

Economics of Information
Pigovian welfare Economics
Marxian theory distribution
Compensation principle

Broad answers question (Any One) 16

a)

b)

Explain Williamson’s model of managerial dicretion.

OR

Explain the Schumpeter Innovation theory of profit.

Broad answers question. 16
Explain the marginal productivity theory of distribution.
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Seat
No. Set P
M.A. (Economics) (Semester - ll) (New) (CBCS) Examination:
Oct/Nov-2022
Economics of Growth and Development
Day & Date: Tuesday, 21-02-2023 Max. Marks: 80

Time: 11:00 AM To 02:00 PM

Instructions: 1) All questions are compulsory.

1)

2)

3)

4)

2) Figures to the right indicate full marks.

Q.1 Choose the Correct Alternative. 16
is an instrument of fiscal policy.

a) Tax b) Bankrate
c) Transaction of debentures d) Cash reserve ratio
Foreign direct investment is an important indicator of
a) Social development b)  Cultural development
c) Economic development d) None of the above
TRIPS is related with
a) Intellectual property b) Tourism
c) Telecommunication d) None of the above
TRIMS is related with
a) Production b) Distribution
c) Savings d) Investment

5)

6)

8)

9)

10)

When the debt is raised from out side the country it is known as
public debt.

a) Internal b) Domestic
c) Foreign d) None of the above

is the characteristic feature of New Agricultural Technology.
a) Use of HYV seeds b) Use of chemical fertilizers
c) Multiple cropping d) Allthe above

is the outcome of implementation of New Agricultural Technology.
a) Green revolution b) Blue revolution
c) White revolution d) None of the above
New Agriculture Technology leads to growth in agricultural
production.
a) Quantitative b)  Qualitative
c) Objective d) None of the above
Sustainable agriculture means development of agriculture sector.
a) Eco friendly b) Techno friendly
c) Capital friendly d) None of the above
Agriculture and Industry are to one another.
a) Complementary b) Contradictory
c) Substitute d) None of the above
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Industrilisation leads to

a) Employment generation

b) Expansion of trade

c) Optimum utilization of resources
d) All the above

12) Infrastructural development includes development of
a) Road b) Railway
c) Communication d) Allthe above
13) GATT is related with sector.
a) Agriculture b)  Industry
c) Trade d) None of the above
14) WTO comes into exits in .
a) 1975 b) 1985
c) 1995 d) 2005
15) Monetary policy is designed by )
a) SBI b) CBI
c) IDBI d) RBI
16) is an instrument of monetary policy.
a) Bankrate b) Tax
c) Budget d) Public debt
Write Short answers. (Any Four) 16
a) What is monetary policy?
b) What is meant by sustainable agricultural growth?
¢) What are the instruments of fiscal policy?
d) What is meant by burden of borrowing?
e) Whatis infrastructure?
f)  Explain any two objectives of WTO.
Write Short Notes. (Any Two) 16
a) New technology in agriculture
b) WTO and India
c) Cost-Benefit analysis
d) Shadow prices
Broad answers question. (Any One) 16
a) Explain the pattern of industrilisation in developing countries.
OR
b) Explain the need of investment criteria in developing countries.
Broad answers question. 16

Explain the role of Monetary Policy in Developing Countries.
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Set | P

M.A. (Economics) (Semester - Il) (New) (CBCS) Examination:
Oct/Nov-2022
Economics of Environment

Day & Date: Wednesday, 22-02-2023
Time: 11:00 AM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1
1)

2)

3)

4)

5)

9)

10)

11)

Max. Marks: 80

Choose the Correct Alternative. 16
Chipko movement was started to conserve .
a) Forests b) Grasslands
c) Deserts d) Soall
Air pollution is caused by
a) Insecticides b) Sewage
c) Smoke d) Loud speakers
The sudden increase in the population of the species is
a) population growth b)  population explosion
c) over population d) all above
Which of the following is a constituent of eco-system?
a) Plants b) Birds
c) Animals d) All of these
Earth day is celebrated on .
a) 22" March b) 22" April
c) 22" Sep. d) 22" Qct.
A pitch of noise which human can hear without discomfort is
a) 60db b) 90db
c) 110db d) 200db
is the major air pollutant.
a) Fungi b) Plastic
c) Bacteria d) Flyash
Ecology is the study of
a) Ecosystem b) Environment and organism
c) Environment d) None of the above
Soil erosion can be prevented by
a) Deforestation b) Forestation
c) Grasses d) None of the above
Waste lands are :
a) Dryland b)  Unproductive land
c) Ecological unsustainable d) Grassland
India ranks in world population.
a) First b) Second
c) Third d) Fourth
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12) Eco-development means .

a) Economic development b) Ecological development

c) Economic growth d) Physical development
13) The term “Eco-system” was introduced by )

a) Arthur Tansley b) Lewis

c) Ricardo d) J.Mills
14) Bio-gas is source of energy in .

a) Under developed country b) Developed country

c) European county d) Socialist country
15) Unfavorable alteration of our surrounding is known as

a) Pollution b) Industrialization

c) Urbanization d) Rationalization
16) The salinity of soil increases due to .

a) Excess irrigation b) Lack of irrigation

c) Over grazing d) Change in cropping pattern
Write Short answers. (Any four out of six) 16
a) Whatis the cause of depletion of ozone layer?
b) Whatis greenhouse effect?
¢) Whatis environment conservation?
d) What is waste management?
e) Whatis sound pollution?
f)  State any two causes of environmental degradation.
Write Short Notes. (Any Two out of four) 16
a) Environment Protection Act 1986.
b) Agricultural growth & environmental degradation.
¢) Urbanization & environmental degradation.
d) Air pollution.
Broad answers question. (Any One) 16
a) Whatis environmental degradation? Discuss the relationship between

agriculture development and environmental degradation.
OR

b) Explain the various functions of pollution controll board.
Broad answers question. 16

What is environment pollution? Discuss the effects of environment pollution.
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No. Set| P

M.A. (Economics) (Semester - ll) (New) (CBCS) Examination:
Oct/Nov-2022
Principles and Practice of Cooperation
Day & Date: Thursday, 23-02-2023 Max. Marks: 80
Time: 11:00 AM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Choose the correct alternative from the following options. 16
1)  The second co-operative societies Act was passed in India in the
year.
a) 1904 b) 1908
c) 1912 d) 1916
2)  Shivajirao Patil Committee submitted its report to the government in
a) 2005 b) 2006
c) 2008 d) 2009
3)  The highest number of dairy co-operatives are found in region of
Maharashtra.
a) Pune b)  Mumbai
c) Amravati d) Kokan
4)  The industrial co-operative movement in china was exclusively the result of
the .
a) First World War b) Capitalist movement
c) China-Japan war in 1937 d) Natural disaster
5)  State Bank of India came into existence in .
a) 1925 b) 1935
c) 1945 d) 1955
6) The co-operative sugar factories in Maharashtra face the problem of
a) Inadequate Sugarcane b) High Cost
c) Inadequate Capital d) All of these

7)  The All Indian Rural Credit Survey Committee (1951) was constituted under
the chairmanship of

a) A.D. Gorwala b) B.Venkatappai
c) M. L. Dantwala d) None of these

8)  Germany is famous for the type of co-operative societies.
a) processing b) credit
Cc) consumer d) service

9)  One matter of co-operation in India was transferred to the sates in
a) 1904 b) 1912
c) 1916 d) 1919

10) The KVIC is a body established by an Act of parliament.
a) local b)  statutory
c) non-statutory d) state level
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11) Kibbutz are found in

a) India . b) Japan
c) China d) Israel
12) The first successful co-operative dairy in Denmark was started in
a) 1852 b) 1882
c) 1885 d) 1890
13) The head office of NABARD is located at .
a) Chennai b) Pune
c) Hyderabad d) Mumbai
14) is the apex of the consumer co-operative movement in England.
a) Co-operative Union b)  Lurbrand
c) Retail Societies d) Government Organisation
15) Rochdale Pioneer’s Society was established in the year
a) 1844 b) 1885
c) 1890 d) 1895
16) As per 1960’s Co-operative Act the Audit Report of the Co-operative society
submitted to the every year.
a) Government b)  Chief Minister
c) Co-operation Minister d) Registrar

Write short Answers. (Any Four)

a) What is service co-operative society?
b) What is co-operative administration?
c¢) What is globalization?

d) What is limited liability?

e) What is industrial co-operative?

f) What is consumer's co-operative?

Write Short Notes (Any Two)

a) Co-operative Audit

b) Role of Government in development of co-operative movement
c) Progress of Daily Co-operatives in Maharashtra

d) Service co-operatives in Japan

Broad answers question (Any One)

a) Discuss the progress and problems of sugar co-operative in Maharashtra.
OR

b) Explain dairy co-operative movement in Denmark.

Broad answers question.
State the role of State Bank of India in credit support to co-operatives.

16

16

16

16
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Industrial Economics
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Seat
No.

Set| P

M.A. (Economics) (Semester - II) (New) (CBCS) Examination: OctNov-2022

Industrial Economics

Day & Date: Thursday, 23-02-2022 Max. Marks: 80
Time: 11:00 AM To 02:00 PM

Instructions: 1) All questions are compulsory.

Q.1

1)

2)

3)

2) Figures to the right indicate full marks.

Choose the Correct Alternative. 16
Industrial Development Bank of India (IDBI) was established on
a) 1 stJuly 1954 b) 1 stJuly 1964
c) 1stJuly 1974 d) 1stJuly 1984
Dr. Manmohan Sing was introduced model of economic
development.
a) IS-LM b) PURA
c) Classical d) None of these
Regarding to total production of sugar in the world, the share of India is
%.
a) 10% b) 15%
c) 20% d) 25%
is the apex bank to Finance small scale industries.
a) IDBI b) IFCI
c) SFCs d) SIDBI
In India, Information Technology Act was passed in the year.
a) 1998 b) 1999
c) 2000 d) 2001

Bonous Commission, December 1961 was appointed by the government
of India under the chairmanship of .

a) Shri M.R. Meher b)  Shri G.V Ramkrishna

c) Dr. Amarty Sen d) Dr. Manmohan sing

is the main objective of the public sector.

a) To develop infrastructural facilities

b) To develop co-operative societies
c) To develop private corporate sector
d) All of the above

Social security means benefit.

a) Maternity b) Workmen’s compensation
c) Employee’s provident fund d) All of the above

The first industrial policy of independent India was announced on

a) 8th April 1948 b) 8 th April 1949

c) 8 th April 1950 d) 8 th April 1951
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10) The Government of India announced the Technology Mission Cotton

(TMC) in to modernize the cotton textile industry.
a) Feb-2000 b) Feb-2001
c) Feb-2002 d) Feb-2003
11) India’s New Industrial Policy-1991 is related to
a) Globalization b) Liberalization
c) Privatization d) All of the above
12) Central pollution control board was established in the year.
a) 1971 b) 1972
c) 1973 d) 1974

13) Initially State Financial Corporations (SFCs) was established in the state of

a) Maharashtra b) Punjab
c) Jammu & Kashmir. d) Andhra Pradesh
14) is the apex institute of industrial finance in India.
a) IFCI b) SIDBI
c) IDBI d) Commercial Banks
15) India’s exit policy was announced in .
a) Sept. 1991 b) Sept. 1995
c) Sept. 2001 d) Sept. 2005
16) L.T. mean .
a) Industry and trade b) Industry and technology
c) Information and technology d) Information and training

Write short answers. (Any Four)

a) Explain the any four Problems of Industrial Labour.

b) Explain the Sources of Industrial Finance.

c¢) Explain the Role of Public Sector Industries in Indian Economy.
d) What is Industrial Policy of 19917

e) What are the Institutional Finance and Industrial Sickness?

f) Whatis Social Security?

Write short notes. (Any Two)

a) Industrial pollution.

b) Causes of industrial disputes.
¢) Information technology industry
d) LPG & Industrial Growth

Write answers of any one of the following.
State the Causes of industrial sickness and suggest remedies on it?
OR
State the present position and problems of Cotton Textile industry in India.

Broad answers question.
Explain the Role of Commercial Banks in Institutional Finance.

16

16

16

16
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Seat
No. Set P

M.A. (Economics) (Semester - lll) (New) (CBCS) Examination:
Oct/Nov-2022
Macro Economic Analysis

Day & Date: Monday, 13-02-2023 Max. Marks: 80
Time: 11:00 AM To 02:00 PM
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Seat
No. Set| P
M.A. (Economics) (Semester - lll) (New) (CBCS) Examination:
Oct/Nov-2022
Macro Economic Analysis
Day & Date: Monday 13-02-2023 Max. Marks: 80

Time: 11:00 AM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Rewrite the following sentences by choosing the correct alternatives from 16
those given below:
1)  The circular flow of national income in a tri-regional economy does not

include .
a) Remaining World Region b) Capital Region
c) Industry Sector d) Government Sector

2)  The circular flow of national income in Capital sector includes
a) Labor capital
b) Government tax Government expenditure
c) Import and export
d) None of these

3) National income divided by per capita income

a) Domestic Product b) The population of a nation
c) Domestic Savings d) None of these
4) Consumption expenditure of a society depends on the of the society
while other factors are constant in the consumption function.
a) Cost b) Consumption,
c) Income d) Saving,
5)  Average consumption trend = consumption expenditure +
a) Income level b) Consumption levels
c) Price level d) None of these
6) Subtract the average consumption tendency along with the average saving
tendency :
a) Savings b) Cost
c) Income d) None of these

7)  According to Keynes'’s Psychological Theory of Consumption, consumption
costs increase with an increase in income.
a) Higher speed b) Lower speed
c) Same speed d) None of these

8) According to Keynes’s Psychological Theory of Consumption
Dividends are consumed and saved.
a) Increasing income b) Declining income
c) Rising costs d) None of these

9) According to Keynes’s Psychological Theory of Consumption, with
increasing income comes consumption costs and savings
a) Decrease b) Growth
c) A&B d) None of these
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10) Significance of government intervention due to consumption functions of

Keynes
a) Increased b) Decreased
c) A&B d) None of these

11) The internal factor determining the consumption trend consists of
a) Vigilance intent b) High standard of living
c) Freedom d) All of the above

12) External factors determining consumption tendencies do not include
a) Stocks b) Income
c) Prices d) All of the above

13) Other factors affecting consumption include .
a) Property b) New items
c) Urbanization d) All of the above

14) The stock of money that is close to the society at a particular time is
yes.
a) Flowing concept b) Stocking concept
c) A&B d) None of these

15) The concept of money supply in the traditional approach is .
a) Compressed Method b) Comprehensive Method
c) Comprehensive Approach d) None of these

16) Relative income is related to the assumed .
a) Friedman b) Keynes
c) Tobin d) Dusenberry

Write short notes. (Any Four)

1) Explain the National income
2) GNP at factor cost

3) Money multiplier

4) Whatis IS curve & LM curve?
5) Inflation

6) Absolute income hypothesis.

Answer the following Questions (Any Two)

1) Explain the Marginal Efficiency of investment.

2) What is Keynesian theory of demand for money?

3) Explain the Permanent income hypothesis.

4) What is Philips curve? Explain the shape of Philips curve in short period.

Answer the following questions (Any One)
1) Explain the methods of social accounting of National Income.
OR

16

16

16

2) What is circulation flow of income? Explain the circular flow of income in two

sector, three sector and fourth sector model.

Answer the following question.
Explain Keynes's theory of consumption psychology and its practical application
of consumption function.

16
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Seat
No.

Set | P

M.A. (Economics) (Semester - lll) (New) (CBCS) Examination:
Oct/Nov-2022
Public Economics

Day & Date: Tuesday, 14-02-2023 Max. Marks: 80
Time: 11:00 AM To 02:00 PM
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Seat
No. Set| P
M.A. (Economics) (Semester - lll) (New) (CBCS) Examination:
Oct/Nov-2022
Public Economics
Day & Date: Tuesday, 14-02-2023 Max. Marks: 80

Time: 11:00 AM To 02:00 PM

Instructions: 1) All questions are compulsory.

2) Figures to the right indicate full marks.
3) Draw neat diagrams wherever necessary.

Q.1 Choose the correct alternative from the following options. 16
1)  Keynes emphasizes on factors for stabilization of the economy.
a) Monetary b) Fiscal
c) Technical d) None of the above
2)  The concept of informational Assymetry is propounded by
a) Akerliff b) Spenze
c) Stieglitz d)  All of the above
3)  The zero base budgeting system is developed by in 1970.
a) Keynes b) Peter A. Pyhrr
c) Wiseman d) Manmohan Singh
4) is a remedial measure of poverty alleviation.
a) Population Control b) Employment generation
c) Torise inincome d) All of above
5)  Modern theory of shifting of tax burden is explained by
a) Mansfield and Canard b) Marshall
c) Ricardo d) Pigue
6) Competitiveness is a feature of goods.
a) Private b)  Public
c) Merit d) Social
7)  ‘Law of increasing state activities’ is stated by
a) Adam Smith b) Keynes
c) Musgrave d) Adolph Wagner
8) Growthin expenditure in India increased highly after independence.
a) Non plan b) Plan
c) Extra d) Allof these
9) is the study area of public economics.
a) Public Expenditure b) Public Revenue
c) Public Debt d) All of the above
10) Mixed Economy means a copresence of :
a) Private-Private Sector b)  Private- Public Sector
c) Public-Public Sector d) All of the above

11)

The burden of tax falls on a particular group of people or a particular sector
is known as tax burden.

a) Monetary b) Real

c) General d) Relative
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12) Provision of goods is the prime responsibility of the government.
a) Private b)  Public
c) Luxurious d) None of the above
13) points out that the benefits of economic development trickle down
to the poor people.
a) Keynes b) Levis
c) S.Kuznets d) Marshal
14) is an example of the public goods.
a) National defense b)  Subsidies
c) Bonus d) Allof these
15) The concept of club goods introduced by .
a) Buchanan b) Kuznets
c) Wagner d) Peter Pyher
16) Concept of laissez Fair Policy is recommended by economist
a) Neo-classical b) Modern
c) Classical d) All of above
Write short Answers. (Any Four) 16
a) Whatis poverty?
b) What is public goods?
c) What is public expenditure?
d) Whatis burden of tax?
e) What are social goals?
f)  What is functional finance?
Write Short Notes (Any Two) 16

a) Pure theory of public expenditure
b) Importance of regional balance
c) Externalities of public goods

d) Laffer curve

Broad answers question (Any One) 16
a) What are club goods? Explain the characteristics of club goods.
b) Discuss on the role of Government in mixed economy.

Broad answers question. 16
Discuss on stabilization policy as a Keynesian case.
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Seat
No. Set| P

M.A. (Economics) (Semester - lll) (New) (CBCS) Examination:
Oct/Nov-2022
Research Methodology

Day & Date: Wednesday, 15-02-2023 Max. Marks: 80
Time: 11:00 AM To 02:00 PM
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Seat
No. Set| P
M.A. (Economics) (Semester - lll) (New) (CBCS) Examination:
Oct/Nov-2022
Research Methodology
Day & Date: Wednesday, 15-02-2023 Max. Marks: 80

Time: 11:00 AM To 02:00 PM

Instructions: 1) All questions are compulsory.

2) Figures to the right indicate full marks.
3) Draw neat diagrams wherever necessary.

Q.1 Choose the correct alternative from the following options. 16
1) is the source of hypothesis.
a) Culture b)  Scientific information
c) General opinions d) All of the above
2) is a systematic planning of research.
a) Hypothesis b) Interview
c) Case study d) Research design
3)  When the researcher makes use of the information and data collected by
other people then it is known as data.
a) Primary b) Secondary
c) Tertiary d) None of the above
4) is the source of primary data collection.
a) Observation b) Diary
c) Biography d) Auto biography
5) Questions in the questionnaire should be .
a) Simple b) Understandable
c) Answerable d) All of the above
6) Atleast persons are required for interview.
a) One b) Two
c) Three d) Four
7) Research is process that goes on for :
a) Short term b) Longterm
c) Temporary d) Seasonable
8) is the field that recognized as the major field of research.
a) Personal question b)  Social question
c) Interpersonal question d)  None of the above
9) Researcher on the primary data.
a) Total control b)  No control
c) Partial control d) None of the above
10) Characteristics of case study is

a) Intensive study of the problem
b) Study of more social units

c) Qualitative study

d) All of above
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11) is a personal document.

a) Autobiography b) Biography

c) Dairy d) All of the above
12) is the starting point of research.

a) Observation
c) Interview

13) In the least of Reference books
a) Published year
c) Name of author

14) In the secondary data collection

b) Concept
d) Hypothesis

is first allusion.
b)  Name of book
d) Reference page no

is necessary.

a) Suitability b) Reliability
c) Adequacy d) Al
15) is the feature of good research report writing.
a) Clarity of ideas b)  Use of technical terminology
c) Reliability d) Al
16) All concepts are
a) Visible b) Invisible
c) Useless d) None of these

Write short Answers. (Any Four)
a) Whatis concept?

b) What is formulation of problem?
c¢) What is Observation?

d) What is hypothesis?

e) Whatis questionnaire?

f)  What is social research?

Write Short Notes (Any Two)
a) Objectives of research

b) Types of hypothesis

c) Contents of report

d) Secondary sources

Broad answers question (Any One)

16

16

16

a) Whatis research? Explain the characteristics research.
b) Whatis fact? Explain the primary and secondary sources of fact collection.

Broad answers question.

16

State the meaning of research design and explain the types of research design.
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M.A. (Economics) (Semester - lll) (New) (CBCS) Examination: Oct/Nov-2022

Labour Economics

Day & Date: Thursday, 16-02-2023 Max. Marks: 80
Time: 11:00 AM To 02:00 PM
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31) 1965 d) 1955
) 1960 ) 1950
13) —— T fHAM Ao W aRrey IR,
31) s e YU UrIEe
§) emfad wWear ufdeay
) HAWB PrRIGHAT 1S
3) WA dd
14) ——— T AR el SvgTred] Aloi-Tal HIIaT 3R,
31) PrUEHAd a6 9) YRR
®) B &S ) W |d
15) ——— B RIS areT Ut JIoT=dl AITGT 378,
31) greurd faeld q) oTf¥adar
@) gEEITE] T ) N |d
16) S SR & —— 9ol 3MTe.
&) o q) ol
F) ARG S) AFRIGRIGaRT
Grelid Yo DIvTEl IR yeAiEr SO foraT. 16

1) HSRMET QRS IS DI ?

2) HAT SATEDHAT WISl HII?

3) ST TiRiiear ®=orel H7?

4) AT SitaArTET Reard

5) AT 31f UHR AL

6) AN AT HeheuHl

oNeqrg feur forer (@l 39) 16
1) 1A% ISR YOI

2) BHEIR ISR GEROT

3) gRIerd SIS BRI

4) fHHM IaTN Fhu

Page 2 of 5



SLR-CV-16

U4 AR AFTON 0T RaGITIR YROMH HRUMR I T Te B 16
fopar
I fAfde Hehed T T 1.

U5 M IOIRME SRy AT IS W 6. 16

Page 3 of 5



SLR-CV-16
Seat
No. Set| P

M.A. (Economics) (Semester - lll) (New) (CBCS) Examination: Oct/Nov-2022
Labour Economics

Day & Date: Thursday, 16-02-2023 Max. Marks: 80

Time: 11:00 AM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Rewrite the following sentences by choosing the correct alternatives from 16
those given below.

1) is a feature of the labor market
a) Local appearance b) Incomplete market
c) Lack of mobility d) All of the above

2)  Physical and mental effort or action taken by human beings to get some
financial reward other than happiness is defined as labor

a) Dr. Alfred Marshall b) Johannes
c) David Record d) None of the above
3) is the factor that determines the supply of labor.
a) Population growth b) Government policy
c) Wage levels d) All of the above
4) This is a form of labor mobility.
a) Geographical Mobility b) Economic Mobility
c) Political Mobility d) All of the above
5) is the reason why workers in India are inefficient
a) Adverse weather b) Low wages
c) Overtime d) All of the above

6) The wages which will enable the workers to provide food, clothing, shelter,
frugality, rest and in times of crisis are

a) Life wages b) Minimum wages
c) Cash wages d) Real wages
7)  The major obstacle to business mobility is understood.
a) Education b) Lack of information
c) Corruption d) All of the above
8)  The Bonus Commission Report was submitted to the Government in 1964
under the chairmanship of , and the Bonus Allocation Act came into
existence after the recommendation of the same report.
a) M. R. Meher b) Dhananjay Gadgil
c) Mehta d) None of These
9) Information on the nature and estimation of unemployment in India is
published by .
a) Planning Board b) State Exchange Center
c) Census Report d) All of the above
10) In 1948, the Act for Workers was passed.
a) Minimum Wage Act b) Relative Wages Act
c) Bonus Allocation Act d) None of these
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11) This is the main cause of unemployment.
a) Population growth b) Low rate of capital formation
c) Recession d) Above all
12) Bonus Allocation Act was enacted in .
a) 1965 b) 1955
c) 1960 d) 1950
13) is the main feature of the minimum wage.

a) Ban on economic exploitation of workers
b) Prohibition of unethical competition
c) Increase in labor efficiency

d) Above all
14) is the benefit of the profit sharing scheme.

a) Increased efficiency b) Corruption

c) Delays d) All of the above
15) This is the limit of the profit sharing plan.

a) Delays in allocation b) Uncertainty

c) Lack of coordination d) All of the above
16) Labour market is market.

a) Perfect b) Imperfect

c) Monopoly d) Monopolistic

Write answers to any FOUR of the following questions.
1) What is supply of labour?

2) What is productivity of labour?

3) What is mobility of labour?

4) Standard of living theory of wages.

5) State the meaning and type of wages.

6) Concept of fair wage.

Write Short Notes. (any TWO)

1) Imperfections in labour market

2) Labour market reforms.

3) Causes of educated unemployment.
4) Concept of minimum wages.

a) Explain the various factors affecting on demand and supply of labour.
OR
b) Explain various concepts of wages.

Broad Questions
Explain the nature and characteristics of Labour Market.

16

16

16

16
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Seat
No.

Day & Date: Thursday, 16-02-2023

Oct/Nov-2022
Agricultural Development of India

Time: 11:00 AM To 02:00 PM
I : 1) G ¥ Afrard e,

2) ISl 3 Yol o7 SeIfar.

U1 Eelid felel Img Ay fagd Meeiedn SR 4.

1)

—— B PUl G WA ATBdell ST,

3 s q)  Yiead

%) o M7 § el S) IS A
——— BT I T ST 3R,
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fIepAa Qe AT —— AT A e,

3 A §fe q) Y diad
$) 3fEAN drad S) I T
IRTAT Goare Jrotral Hreael —— 372,

31)  2000—2005 d) 2010—2015
%) 2011—2016 S) 2012—2017

——— Y& IRAN Al IATGHAT HHI 37T,
31) Uaue™ AT fARTT AThaE
9) TSI Fecarel araraRor

@) R A dHaRdr

3) WIdUd! 4

HRATT AR AR v &R —— J7aui 3rRecara 31
31) 2004 d) 2000

$) 2005 €) 2003

ML TSI STHIF fAhT Heo ——— ATquT 3Rdcrd 3TTed.

31) 1985 q) 1980

%) 2010 €) 2004

HRAT SRR Ygdl —— Jradl g 3iell,

31) 1650 q) 1770

) 1793 S) 1835

Set| P

M.A. (Economics) (Semester - lll) (New) (CBCS) Examination:

Max. Marks: 80

16
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9) YRAT AT SIAERY ——— I G SATet.
3) 2002 d) 2009
$) 2008 S) 2011
10) ‘UBNT Ul [STeal BRIPH ——— UY=aite Ared o HRUIT 3T,
3) uraedm §) gan
%) fore=an S) dredr
11) WARR IS ARATT I Iq=I1d Adrar e ——.
) qred A 9) Rer ame
%) ©ed 3T ) IN@ AR
12) YRAKIS STARIAATd ——— 91 aTeT Adiferd 378,
31) e q) B
%) fafey amfor guefcraT ) sa} AN
13) femidl —— o FafT IR,
31 e §) &
@) Y G €) wod ITe
14) ¥RAIG Ufgell ERAHIAT —— A g<all.
31) 1980—85 q)  1995—97
) 1966—67 S) 1980—81
15) ——— ® SHoid JARUYIRS Fd 3R,
) AEHS Il q)  Prodr
®) ol ) AR ol
16) —— T4l G HGHR URAFTGT HRUATT AT,
31) 1990 d) 1985
$) 2005 $) 2010
Qe Jeie STk foreT. (@odl =) 16
) A EAER TS Hra?
9  HUl A wUN Bra?
®) DIR A U] B?
S)  WRAN™ KIS THE SaTd 9 I 9 Brorer?
%)  Yo—EYRI BN HY?
3) CIFHED IdEHAr BN Br?
feur forgt. (@l <) 16
) P TAAE AN ISR
§)  gdel i
$) AR ST a0R
) IR @Ry S
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Seat
No. Set| P
M.A. (Economics) (Semester - lll) (New) (CBCS) Examination:
Oct/Nov-2022
Agricultural Development of India
Day & Date: Thursday, 16-02-2023 Max. Marks: 80

Time: 11:00 AM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Draw neat diagrams wherever necessary.

Q.1 choose the correct alternatives from the options. 16
1) is known as agriculture resources.
a) labour b) capital
c) aandb d) None of these
2) is agriculture allied industry.
a) Dairying b)  Horticulture
c) Fisheries d) All of the above
3)  The developed countries offer subsidies to the agriculture through
a) Green Box b) Blue Box
c) Amber Box d) All of the above
4)  The period of Twelfth Five Year Plan is .
a) 2000-2005 b) 2010-2015
c) 2011-2016 d) 2012-2017
5)  The agricultural productivity is low in India due to .
a) Overcrowding in agriculture b) Discouraging rural atmosphere

c) Inadequate non-farm services d) All of the above
6) Marine Fishing Policy was started in India in the year

a) 2004 b) 2000
c) 2005 d) 2003
7)  The National Wasteland Development Board was established in the year
a) 1985 b) 1980
c) 2010 d) 2004
8)  Zamindari system was introduced in India in the year
a) 1650 b) 1770
c) 1793 d) 1835
9)  The new water policy in India was started in year.
a) 2002 b) 2009
c) 2008 d) 2011
10) The ‘Intensive Agricultural District Programme’ was started during five
year plan.
a) Fifth b) Second
c) Third d) Fourth
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11) The share of agricultural sector in GDP of India is in post
independence period.
a) Increasing b) Stagnant
c) Decreasing d) None of the above
12) has the highest share in irrigation in India.
a) Tanks b) Canals
c) Wells and tube wells d) Other sources
13) Blue revolution in related to
a) Agriculture b) Industry
c) Milk production d) Fish production
14) The first Green Revolution in India took place in .
a) 1980-85 b) 1995-97
c) 1966-67 d) 1980-81
15) is the non-conventional source of energy.
a) Fuel wood b) Coal
c) Oil d) Solar energy
16) In year dairy industry was delicenced.
a) 1990 b) 1985
c) 2005 d) 2010

Write Short Answers. (Any Four)

a) Whatis feminization of agriculture?

b) What is agricultural policy?

¢) Whatis meant by contract farming?

d) What are India’s major agricultural import and export items?
e) Whatis meant by soil conservation?

f)  Whatis land productivity?

Write Short Notes. (Any Two)

a) Agricultural technology and employment
b) White revolution

¢) Land utilization in India

d) Non-commercial energy

Broad answers question. (Any One)
a) Explain land reforms in India.
b) State and explain progress of irrigation and various sources of irrigation.

Broad answers question.
Explain the impact of W.T.O on Indian agriculture.

16

16

16

16

Page 5 of 5



SLR-CV-18

Seat
No. Set| P
M.A. (Economics) (Semester - IV) (New) (CBCS) Examination:
Oct/Nov-2022
Macro Economic Analysis
Day & Date: Monday, 20-02-2023 Max. Marks: 80
Time: 03:00 PM To 06:00 PM
LA 1) |G TR ARl SATed.
2) ITdIhSI 3 Yol T[oT geifadra.
U1 Eelid felel amg g faga Mededn ST . 16
1) Fodderdr Redl =l ———
3) ReR fhHa q) gcdl fead
CORCIER?] hH ) AP ATl
2)  Uemredn ARTOAS 98l @ ———
) eI gD q)  rorexEll FITHS
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3) i a6 —— Il |ag <.
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%) FUHD ) T
5) dHeR 7 yd MO —— AR 377,
31) ATHD E[) TUTTcHD
%) fas® ) TWAUD! ARl

6) o=l faaRYvITeld faaReie IoteNg gRomar aiRvmd —— I1d gra.
3) HAAI ITEH, ISR 9 ATSIeR ITd 1@
q) HAdIA Scaed, fhAdl 9 AoTea’d dTe
%) A fHA, ASTIR T TSGR aTe
) A Icured, fhAdl 9 A RIT 918

7) add Riectd UROTH —— I ATS.
) 4 q) o
D) HR3TTAT ) Ufefea
8) YRAK STog fhad arerr Hard Ufdel iR ——— AR Bl
3) RGN HATg ekl q) DHREMGNI HFTR
F) AR S) TAASR
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) FHAIA SU YIS aTe Blsd
¥) U S UIdeId BT slgdl
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3N HAF S UTde §) IR fhAd U]
®) Id 3) T I
11)  IS-LM UfcHE ——— ®UAE! 3l@@el Gill.
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12) ST — TR UM ——— AMRI da9 d fhael Jied oxd.
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P) I 3) IfAf¥gaar
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3) I g) <ifeq
%) UfeAts ¥) W |d
15) I Ad, TIERMNTG! 3RTelell UMl AR —— #& 9GS
EETU
3 TSI q)  IJIUH
%) AT ) dRIUd! AR
16) fa@ferd fifor T & Hheus T —— I ATSell.
3) i q) fhend
%) UfedAfda ) cifeq
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6) WA HEHIT DHal TR TC B,

16
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9.3 leileiie! HIVRE a9 JeiE SN forel. 16
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Seat
No.

Set

Day & Date: Monday, 20-02-2023

M.A. (Economics) (Semester - IV) (New) (CBCS) Examination:
Oct/Nov-2022
Macro Economic Analysis

Time: 03:00 PM To 06:00 PM

Instructions: 1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q.1 Choose the correct alternative from the following options.

1)

2)

3)

4)

5)

6)

7)

8)

9)

Money inflation means stage of )
a) constant price b) decreasing price
C) increasing price d) none of these

Transaction demand for money varies .
a) positive with income b)  negatively with rate of interest
c) positively with rate of interest d) negatively with income

Phillips curve shows the relationship in

a) Inflation and Unemployment b)  Income and Consumption
c) Income and Price Level d) None of these

IS curve is sloped

a) Horizontal b) Positive

c) Negative d) Vertical

Bank rate is measure of credit control

a) Quantitative b) Qualitative

c) Selective d) None of these

In a Keynesian system, expansionary fiscal policy leds to
a) Rise in equilibrium output, employment & interest rate
b) Rise in equilibrium output, prices & interest rate

c) Rise in equilibrium prices, employment & interests

d) Rise in equilibrium output, prices & employment

Real balance effect is the contribution of

a) Keynes b) Pigou

c) Samuelson d) Patinkin

In India, inflation most adversely affects

a) The Govt. pensioners b)  The factory workers

c) The traders d)  The agriculture labourers

With a vertical LM curve (IS curve remaining downward sloping) an increase
in Government spending lead to

a) An increase in equilibrium level income

b) A decrease in equilibrium level of income

c) Avrise in equilibrium interest rate

d) A decline in equilibrium interest rate

P

Max. Marks: 80

16
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10)

11)

12)

13)

14)

15)

16)

SLR-CV-18

In the Macro Economic system of Keynes saving is brought into equilibrium
with investment by change in

a) Level of aggregate income b)  General price level

c) Wages d) National income

IS — LM model is also known as .

a) Keynsian model b) Hicks — Hansen model

c) Classical model d) None of these

Mundell — Fleming model assumes nominal wages and prices.

a) Increasing b) Stable

c) Decreasing d) None of these

According to Tobin, demand for money is significantly determined by the
factor.

a) Wealth b) Rate of interest

c) Income d) Uncertainty

Post Keynsian approach of demand for money is related to

a) Baumol b) Tobin

c) Patinkin d) All of above

According to Baumol, the demand for money for transaction purpose will
changed after the change in )
a) Rate of interest b) Investment

c) Demand d) None of these

Kinked Phillips Curve concept introduced by .
a) Phillips b) Friedman
c) Patinkin d) Tobin

Write short Answers. (Any Four) 16

a)
b)
c)
d)
e)

f)

Define the natural rate of unemployment.
Explain the Baumol’s Inventory Theoretical Approach.

What is Real Balance?
State the monetarist approach to inflation.
State the assumptions of Mundell - Fleming model.

Explain the Keynesian approach to inflation.

Write answer of the following questions. (Any Two) 16

a)
b)
c)
d)

Describe the short run Phillips Curve.

Explain the Friedman’s theory of demand for money.

Explain the monetary approach to the balance of payments.
Explain the new classical approach towards macro economics.

Broad answers question (Any One) 16

a)
b)

Explain the Tobin’s model of demand for money.
Discuss on policy implications of new classical approach.

Broad answer question. 16
Discuss on Policies for to control the Inflation.
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Seat
No. Set| P

M.A. (Economics) (Semester - IV) (New) (CBCS) Examination:
Oct/Nov-2022
Public Economics

Day & Date: Tuesday, 21-02-2023 Max. Marks: 80
Time: 03:00 PM To 06:00 PM
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®) gIT SRR
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9) HIA BRI AASIdh Td ——— AT,
3) fHAE q) S
@) HH S) TeAta@ AR
10)  SIeET SfQTSTUADBIE ThUT Jfegaeeiar BIVIRT TRV gdhdl Il de]
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®) g SIS CIN]
11) —— T [ gRU |eE SR,
3) IeSTIAD q) ddax
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®) v €) PRI
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Seat

No. Set | P

M.A. (Economics) (Semester - IV) (New) (CBCS) Examination:
Oct/Nov-2022
Public Economics

Day & Date: Tuesday, 21-02-2023 Max. Marks: 80
Time: 03:00 PM To 06:00 PM

Instructions: 1) All questions are compulsory.[=
2) Figures to the right indicate full marks.

Q.1 Choose the correct alternative from the following options. 16
1) is the period of 14" finance commission.
a) 2005-2010 b) 2010-2015
c) 2015-2020 d) 2020-2025
2) is the chairman of 14 finance commission.
a) N. K. Singh b)  Dr. C. Rangrajan
c) Vijay Kelkar d) Y.U.Reddy
3)  Shifting of tax burden is possible in case of tax.
a) income tax b)  property tax
c) right of heritance tax d)  production tax
4)  Production tax is an example of tax.
a) direct tax b) indirect tax
c) special tax d) none of the above
5)  Entertainment tax is an example of tax.
a) direct tax b) indirect tax
c) special tax d) none of the above
6) Income tax is an example of tax.
a) direct tax b) indirect tax
C) special tax d) state tax
7) Finance commission is appointed under the article of the constitution.
a) 280 b) 281
c) 282 d) 283
8) budget is expected in the deflationary situation.
a) Surplus b)  Deficit
c) Optimum d)  Zero based
9)  Public expenditure should be in the deflationary situation.
a) minimum b) maximum
c) low d) none of the above
10) When the overall effect of budget on the economy is favorable then that
budget is known as budget.
a) surplus b)  deficit
c) optimum d) zero based
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is the instrument of fiscal policy.

a) Budget b) Bankrate
c) Public debentures d) Credit control
12) Monetary policy and fiscal policy are to each other.
a) substitute b)  contradictory
c) complementary d) none of the above
13) Burden of borrowing exerts more pressure on the economy.
a) internal b) local
c) external d) none of the above
14) Classical economist have advocated budget.
a) surplus b) deficit
c) optimum d) zero based
15) is the source of public debt.
a) Commercial bank b) Central bank
c) Foreign government d) All of these
16) Increase in public debt will affect on
a) production b) investment
c) distribution d) all of these
Write short Answers. (Any Four) 16
a) Whatis fiscal policy?
b) What are the sources of revenue of the central government?
c¢) What s fiscal federalism?
d) What is the relationship between public borrowing and price level?
e) Explain the compensatory aspect of debt policy.
f) What is indirect tax?
Answer the following questions. (Any Two) 16
a) What are problems of state indebtedness?
b) What are the criterions for transfer of resources from centre to state?
c) Explain the interdependence of Monterey and Fiscal policies.
d) What is burden of public debt?
Attempt any one of the following questions. 16

a) Discuss the characteristics of Indian tax system.

OR

b) Discuss the objectives of fiscal policy.

Broad answers question. 16
Explain the classical view on public debt.
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Seat
No. Set| P

M.A. (Economics) (Semester - IV) (New) (CBCS) Examination:
Oct/Nov-2022
Labour Economics

Day & Date: Wednesday, 22-02-2023 Max. Marks: 80
Time: 03:00 PM To 06:00 PM

I : 1) G ¥ Afrard e,
2) SISl 3 Yol o7 Selfard.

U1 Gelid felel I Ay faga Meeiedn SR 4. 16
1) ——— T BFIR HEeAT HAolgd RO dcd 3R,
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@) TP SEUNT 3d HeeH] ) I Y@t ARl
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31) 1926 d) 1936
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3) oifa e ¢ I iU o o —— a1 adi Sirell,
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4)  WRAIE HOIGR HETHl IO —— T adi e,
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6) MR HUCHd UrIHEG BRI Ul AU FHE] —— Bdr
RETOT RO B,
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%) S A q) e N
®) BRI T ) WDl ATEl
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%) I ) WDl A8l
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9) I T H BHERIET FHIT —— HJad AT Bl
3) S gRoT 9) AR RO
®) BRI GBI ) WAdD! ATal
10) —— © YRANIS SRS Foure g HROT 38,
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F) 3ifeA R\ 3) Sfes Raret
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®) W ) Rer
Grefidia! Tl fieqd SR o=l (@eEl ar) 16
3) AHEIe qIerdre! |l B ?
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Seat
No.

Set

Day & Date: Wednesday, 22-02-2023

Time:

M.A. (Economics) (Semester - IV) (New) (CBCS) Examination:
Oct/Nov-2022
Labour Economics

03:00 PM To 06:00 PM

Instructions: 1) All questions are compulsory.

Q.1

2) Figures to the right indicate full marks.

Rewrite the following sentences by choosing the correct alternatives
from those given below.
1)  The principle of strengthening trade union is

a) One union in one industry

b) Few unions in one industry

c) Many unions in one industry

d) None of the above

2)  The Indian Trade Union Act is passed in

a) 1926 b) 1936
c) 1946 d) 1956
3) AllIndia Trade Union Congress is established in
a) 1920 b) 1930
c) 1940 d) 1950
4)  Bhartiya Mazdoor Sangh is established in
a) 1935 b) 1945
c) 1955 d) 1965
5)  Hind Mazdoor Panchayat is established |
a) 1942 b) 1952
c) 1962 d) 1972
6)  The primary function of trade union is to safe guard interest of its
member.
a) Economic b)  Social
c) Political d) None of the above
7)  The main defect of trade union in India is .
a) Internal leadership b) External leadership
c) Employees leadership d) None of the above
8) In India male and female workers are getting wages.
a) Equal b) Same
c) Unequal d) None of the above
9)  The problems of female and child labour arises due to
a) Industrial policy b)  Government policy
c) Employees attitude d) None of the above
10) The most important cause of industrial dispute in India is
a) Wage rate b)  working hours
c) Holidays d) None of the above

P

Max. Marks: 80

16
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11) method can be adopted for the settlement of industrial dispute.

a) Conciliation b)  Arbitration
c) Joint management council d) All the above

12) The industrial dispute act is passed in

a) 1947 b) 1957

c) 1967 d) 1977
13) Strike is called by the :

a) Workers b) Employers

c) Management d) None of the above
14) Lock out is called by the .

a) Workers b) Employers

c) Government d) None of the above
15) has given new dimension to the labour movement.

a) Robert Owen b) Marshall

c) Adam Smith d) David Ricardo
16) The head office of ILO is situated at .

a) London b) New York

c) Paris d) Geneva

Write Short Answer. (any four)

a) Whatis collective bargaining?

b) Whatis lock out?

c) Explain the problems of female labour in India.
d) Whatis labour welfare?

e) Explain the four of joint management council.
f)  Explain any four functions of trade union.

Write Short Notes. (Any two)

a) Collective bargaining.

b) Labour legislation in India.

c¢) Voluntary Retirement Scheme.
d) Exit policy.

Broad answers question.
a) Whatis meant by industrial dispute? Describe the various causes of
industrial dispute in India.
OR
b) Discuss the problems of child labour in India.

Broad answers question.
What is Trade Union? Discuss the various problems of trade union in India.

16

16

16

16
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Seat
No.

Set| P

M.A. (Economics) (Semester - IV) (New) (CBCS) Examination:
Oct/Nov-2022
Agricultural Development of India

Day & Date: Wednesday, 22-02-2023 Max. Marks: 80
Time: 03:00 PM To 06:00 PM

I : 1) G ¥ Afrard e,
2) SoldIdmSIal 3 Yol T[0T TR,
U1 Gelid felel I Ay fHaga Maeiedn SR 4. 16

1) P RRISIrAT TR FeRITHS SaHed —— d1 AT BIdl.
3) PR §) URI dPbT
&) eTS €) WHEBR

2) 9T 1951 HeY ARG YRAR TV YayRaeT UgTofl Al —— i
JTEAETRATAT THUATT 3T,
31)  SIRATe d) TUAGH
%) AN AgIIA SRR CN

3) WRA HSHN YAYRES] AT T ——— H& Fo AT,
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) 1912 €) 1918

4) YRA ARBRA YA aoi AMATel Hraal —— Aed U SHal,
31) 1939 q) 1949
P) 1950 €) 1955

5) 3ol dF JMT —— AR TR Do,
) RRAEH q)  #Hedl
®) Ui ) TR

6) UAAISIHL o QO 99 —— "l STe.
3) 1964 q) 1960
P) 1963 g) 1975

7)  HeH9dl JEH AEHSHME RATAA §F —— A BRI 3MTell,
31) 1950 q) 1955
) 1957 S) 1960

8) fH¥M da4 draQr 99 ——— AU GHd Sl
31) 1948 q) 1949
®) 1950 ) 1951
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31) IR AT 9  AdRY
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3) °e q) Rer
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12) PH-IANTER —— AT FHRAT.
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®) Tl BT =er S) oW |
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®) FIRATIAA QY ) WIud dd
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31) IR IRUGR TR BT

§) fquore @ B HRO0
%) AT A fbdd MAesqer <o
) TWeAtdl dqd
15) ——— T UTHOR IR IR,
) St ATeRar d) FHH dad
%) Fefcauon SIENSECARREE]
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P)  IMMIYSTIYA ) Ul
Glelierid! FEidT fieard Sox forel. (IUE! aR) 16

&) I GReE WSl Hrg?
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$) YT dHNI IS HII?

s U fowr = dra?

3)  TEIH Bleid dol FRUS HII?

3)  Adue faaRer yomelh st foreT.

Jreqard feur forsr. (o M) 16
J) R drer

§) DY FUNT TbR
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Seat
No.

Set | P

M.A. (Economics) (Semester - IV) (New) (CBCS) Examination:

Oct/Nov-2022
Agricultural Development of India

Day & Date: Wednesday, 22-02-2023 Max. Marks: 80
Time: 03:00 PM To 06:00 PM

Instructions: 1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q.1 Filiin the blanks by choosing correct alternatives given below. 16

1)

2)

3)

4)

10)

The Non-institutional source of agricultural credit includes
a) Government b) Commercial Banks
c) NABARD d) Money lender

All India Rural Credit Survey Committee in 1951 was constituted
under the chairmanship of

a) Shree Gorwala . b) A.M. Khusro

c) Shree Vaidyanathan d) Shree Shankar
The co-operative credit societies in India started in

a) 1910 b) 1904

c) 1912 d) 1918

The government of India passed standard weights act in
a) 1939 b) 1949

c) 1950 d) 1955

The lead bank scheme is formulated by committee.
a) Narsimham b) Mehata

c) Patil d) Nariman
NCDC was setup in .

a) 1964 b) 1960

c) 1963 d) 1975

Central Godown Corporation established in

a) 1950 b) 1955

c) 1957 d) 1960

The minimum wages act was passed in .

a) 1948 b) 1949

c) 1950 d) 1951

The commission and market charges in regulated markets are fixed by

a) Market Committee b) Farmers

c) Government d) Agents

In India the structure of Land Development Bank is

a) Two tier b) Three tier

c) Four tier d) None of the above
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12)

13)

14)

15)

16)
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After independence the number of agriculture labour is
a) Decrease b) Stable
c) Increase d) none of the above

Agro-industries create

a) employment opportunities

b) assured market for agricultural products
c) promote agricultural development

d) all of the above.

is a major problem of State Co-operative Banks.
a) Poor deposits b) Increasing over dues
c) Defects in Management d) All of the above.

The purpose of regulated market is

a) To eliminate unhealthy market practices
b) To reduce marketing charges

c) To ensure fair prices of products

d) All of the above.

is a major feature of agriculture labour.
a) More literacy b) Less wage
c) Organized d) All of the above

Good in agriculture which are graded and accorded certificates are
listed as goods.

a) AGMARK b) ISI
c) SAIL d) LIC
Write Short answers. (Any four out of six) 16
a) Whatis food security?
b) What is agricultural marketing?
¢) Whatis rural unemployment?
d) Whatis crop insurance?
e) Whatis medium term loan?
f)  Define public distribution system.
Write Short Notes. (Any Two out of four) 16
a) Buffer stock.
b) Types of agro-industries.
¢) Market information.
d) Role of finance in agriculture.
Broad answers question. (Any One) 16
a) Discuss in detail the problems of agricultural labour.
b) State various problems of agricultural marketing.
Broad answers question. 16

Explain the role of co-operative societies in agricultural credit.
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No. Set | P

M.A. (Economics) (Semester - IV) (New) (CBCS) Examination:
Oct/Nov-2022
International Trade and Finance

Day & Date: Thursday, 23-02-2023 Max. Marks: 80
Time: 03:00 PM To 06:00 PM
A < 1) Fd g AER e,

2) SoTdIRSIe 3fe qoT IO FRfaara

U1 Gelid felel amg g faga Mededn ST . 16
1) IR [HAAE qOIRR ——— AT &9 Qe AR BRI
3% Al
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P) A 3) o=
2)  ETTAUD IV AL TR 3MTR?
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$) A AR ) Tl 9) 3T B)
3) SRR ATIR AT IR RATIR AT BRE A8 PRI
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) I ) M BT
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faepor.
31) dIer §) Sierd
®) e ) Sft
7)  ——— T <N Y& IS 32 Ol 99 AR e anfor arsve &
PRI FEHd 3R,
31) HTHT HIhT q) goHHAS g
®) DHEH JHIA S) Ha ATUR &
8) SRS IR, IMF U —— B,
3T) AR Aol q9) SRSy gar fEf
F) YA HATDT BHS ) ZeIeHe HAiHes! BH
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9) ——— T AT B A2 Sl IR STl fhHdl areauarrd]
30T ARG HEGel ISIUIATATS] IR SITel.
31) ST 9) Piel
®) e s) g
10) STHIA IR HROIMET JMADHR HIUHS 3N ?
3) Y IRDR qd) Bl ANPR
F) WTRR AldH S) PREME ATAD
11)  JIAS BRI SRAdMT QO] a2 —— FREd ael urfzol.
3 HH @d q)  faerfreror
$) AYUT BIRIGT 3) fdy

12) SMORTEIT AR AN &Il —— B,
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) TP TRl
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®) fHadl B DHeard €) SUINT drefdedrd
14) AT DICT ST IRAT fhAT Urdedid ——— AT HROGRATST
IYRAT ST,

3) gre T SRS §) =c v HRogrITST
®) ReRdr FEIT RISl ) goleT BRUGNTS!

15) 3MTR — IIANT IR & Fheqar —— W HaelidT 31%.
) M ITANTN FefSrd T STl TR
q) Piel ISANEN Fafd FHM STl TR
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) I@T ARl
16) DHFIC AlSTHR, TP BH 3™ JBId &Rd Bl Sie] wWdd Iara
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1) oI YR W H.

2) JNANEY AR B

3) ST gRor
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Gl BIVAE! a9 Jeral S forar.

1)  INAREI IR FRUeT ™ Regid T B,

2) FAERAIel [T DRI W D,
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Seat
No. Set| P

M.A. (Economics) (Semester - IV) (New) (CBCS) Examination:
Oct/Nov-2022
International Trade and Finance

Day & Date: Thursday, 23-02-2023 Max. Marks: 80
Time: 03:00 PM To 06:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Choose the correct alternative from the following options. 16
1)  Trade between two countries can be useful if cost ratios of goods are
a) Undetermined b) Decreasing
c) Equal d) Different
2)  Which of the following is international trade?
a) Trade between countries b)  Trade between regions
c) Trade between regions d) Both (b) and (c)
3) International trade and domestic trade differ because of:
a) Different government policies b) Immobility of factors
c) Trade restrictions d) All of the above
4) Gowvt, policy about exports and imports is called:
a) Exim Policy b)  Fiscal policy
c) Monetary policy d) Finance policy
5) refers to the tax imposed on imports.
a) Exported Tax b) Tariffs
c) Subsidies d) Import Quotas
6) means selling the products at a price less than on going price in the
market.
a) Quota b) Tariff
c) Subsidy d) Dumping
7) is a group of countries agree to abolish all trade restrictions and
barriers.
a) Common market b) Economic Union
c) Custom Union d) Free Trade Area
8) In International Trade, IMF stands for
a) International Monetary Fund b) International Money Fund
c) International Market Fund d) International Monetary Firm

9) This is a tax on imports that is used to increase price of foreign products and
raise government revenue

a) Tariff b) Quota
c) Subsidy d) Embargo
10) Who has the power to create tariffs?
a) State Government’s b) Federal Government
c) Store owners d) Factory owners
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11)  When determining comparative advantage one must determine?
a) Opportunity cost b)  Specialization
c) Absolute Advantage d) Embargo

12) What are the International Trade Imbalances?
a) Arise of prices over a certain period of time
b) To fall of prices over a certain period of time
c) Difference between the Economics Transactions of a nation's exports
and imports over a certain time period
d) None of these

13) Tariffs and Quotas can benefit nations imposing them by )

a) Raising revenue b) increasing variety of goods

c) Lowering prices d) Increasing consumption
14) Import Quotas are adapted to the domestic goods price level.

a) increase b) reduce

c) stabilize d) ignore

15) Intra-industry trade refers to the
a) Exchange of similar products belonging to the same industry
b) Exchange of similar products belonging to the contra industry
c) Exchange of dissimilar products belonging to the same industry
d) None of These

16) In the Cournot model, each firm assumes that its rival will its output
when the firm adjusts its own output.
a) increase b) not change
c) decrease d) none of these

Write short Answers. (Any Four)

a) Explain the effects of Tariffs.

b) Gains of International Trade.

c¢) Dumping Policy.

d) Benefits of Free Trade.

e) Non-Tariff Barriers.

f) Economics effects of tariff and quotas on Employment.

Answer the following question (Any Two)

a) Explain the theory of Absolute Advantage of International Trade.
b) Explain the causes of disequilibrium in Balance of Payment.

c¢) Economics effects of tariff and quotas on Income Distribution.
d) ‘International Trade is an engine of growth’- Discuss.

Broad answers question. (Any One)

a) Explain the concept of Terms of Trade? Discuss in details the types of Terms
of Trade.

b) Critically examine Heckscher-Ohlin Theory of International Trade.

Broad answers question.
What is the MNC’s? Explain the role of MNC’s in Indian Economic Growth.

16

16

16

16
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No. Set| P

M.A. (Economics) (Semester - IV) (New) (CBCS) Examination:
Oct/Nov-2022
Advanced Banking

Day & Date: Thursday, 23-02-2023 Max. Marks: 80
Time: 03:00 PM To 06:00 PM
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) 1947 q) 1948
®) 1949 ) 1950
6) ——— B b YD ARSI AT 30T UAYRAST HRURI FRAT 3R,
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No. Set| P

M.A. (Economics) (Semester - IV) (New) (CBCS) Examination:
Oct/Nov-2022
Advanced Banking
Day & Date: Thursday, 23-02-2023 Max. Marks: 80
Time: 03:00 PM To 06:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Choose the correct alternative from the following options. 16
1) The bank that takes the initiative to set up rural bank is called
a) lead Bank b) Regional Rural Bank
c) NABARD d) Sponsorer Bank
2) Regional rural banks were started in in India.
a) 1965 b) 1975
c) 1985 d) 1995
3) 'Extended Agriculture District program' was established in
a) 1940 b) 1950
c) 1960 d) 1970
4) Crop insurance scheme in India is effected by

a) Life insurance corporation of India
b) General insurance corporation of India

c) AandB
d) None of this
5) The R.B.l. was nationalized on 1 January :
a) 1947 b) 1948
c) 1949 d) 1950
6) bank is an international finance and credit institution.
a) RBI b) SBI
c) Universal bank d) Merchant Bank
7) is done by CIBIL.
a) ATM checking b) Credit score determination
c) Debit card checking d) All of the above
8) Bank rate is the tool of monetary policy.
a) Quantitative b) Qualitative
c) Moral d) None of this
9) After independence the 'Banking Regulation Act 'was passed in the year.
a) 1947 b) 1948
c) 1949 d) 1950
10) Bank provide services to companies in other countries.
a) International Bank b) Maharashtra Bank
c) RBI d) SBI
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11) the committee evaluated the performance of the banking Sector and
financial institution in India.
a) Chakravarthy committee b) Khustro committee
c) Narsimhan committee d) All of the above
12) If the interest on the loaned assets given by the banks is outstanding for a
period of more than Six months is called
a) profitable assets b) non performing assets
c) aandb d) none of this
13) Revised implementation of Basal Accord-lll took place on 31st March
a) 2018 b) 2019
c) 2020 d) 2021
14)  The age limit of banking Ombudsman is years.
a) 50 b) 55
c) 60 d) 65
15) 'Banking supervision Basal Committee' was established at Basel in
a) England b) German
c) Switzerland d) None of this
16) 'The financial service action plan' was launched in this year.
a) 1996 b) 1997
c) 1998 d) 1999
Write short Answers. (Any Four) 16
a) Explain the problem of Rural banking.
b) Explain the functions of CIBIL.
c) What are the product of retail banking?
d) Explain the provisions of the Banking Regulation Act.
e) Explain the Basal Accord-II.
f) Explain the crop loan scheme.
Answer the following questions. (Any Two) 16
a) Explain the nature of Regional Rural Banks.
b) How is the banking ombudsman appointed?
c) Explain the need for an International Bank.
d) Explain the concept of micro finance.
Answer the following questions. (Any One) 16
a) Explain the main features of monetary policy.
b) Explain the role and functions of the universal bank
Answer the following questions. 16

Explain the need for and functions of R.B.I.
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